- TR RS (BlKE)
BRI



IERAERTER

&5 TFE & R ZE= K & G k=
0% Lo o i

O Bo/KE  HE 110%U(EE) DIP ¢ 1500 1.30 2.29

®@-1 e Bo/KAE BE 110%U(EE) DIP ¢ 1500 2.00  2f&5FTx2.0m  4.00 i

@ Bo/kAe  BEE 110%U(EE) DIP ¢ 150 2.00  2f&FTX2.0m  4.00 |xwik i
® BERR SIS Bl 110M(E5E) VP75 1.30 38.00 | &fdEE
@ Bok% EE 39MI(THE) VP75 1.20 1T x1.5m  1.50 |FRmikors

R '\ SV
® = Bl/k EE 39%U(iE) VPo75 0 1.20 1.0m+1.5m 2.50 R FEIE
® ERR AR BE 39AU(iE) VP75 1.20 10.00 | wWFIE
2.29+4.0+38.0
@D &R AEEEIH #E 110%(EH) +32.6 76.89 | t=26cm




TR OE B R

© | @1 © ©) @
o mokw | st | TS| omee | wemen |
L DIP$ 150 | DIP$ 150 | DIP$ 150 | VP75 | _ aEr |
DP=1.3m | DP=1.3m | DP=1.3m | DP=1.2m | = 20¢m
ﬁiﬁ?‘ﬂno ﬁi%uo E-Eiﬁ%qno ﬁi%uo E-Eiﬁ%qno
EHAShR ST T t=26cm 3.7 8.8 39.4 51.9 52
F- £y 2% vl N A A R R R R R R
0.20BH t=30cmPA T 1.6 4.8 26.6 33.0 33
F- £y 2% v A A R R R R R R
0.20BH t=10cmPA T 4.8 52.6 57.4 57
HEARIE ] T 0.20BH 1.9 9.1 11.0 29.8 10.0 61.8 62
BERET @&E+) 0.20BH 0.5 5.0 6.0 7.7 19.2 19
_______________________________________________________ B L
ST AT 1.9 9.1 11.0 29.8 10.0 61.8
ST AS 0.4 1.2 0.3 6.9 3.7 12.5 13
BAELAMEA |
TEEET t=44cm 1.6 4.8 4.8 26.6 37.8 38
=%y N I N I NN IR B N
ERET t=59cm 1.6 4.8 4.8 26.6 37.8 38
BAESRET A2 |
FJE T (HH) t=7cm PK3 1.6 4.8 4.8 26.6 37.8 38
s | SEIART R
KE (i) | t=b5cm PK4 48.5 | 48.5 49
s | SEIART R
A T(HIE) | t=T7cm PK4 48.5 | 48.5 49
s | SEIART R
A T(HIE) | t=T7cm PK4 52.6 | 52.6 53
s | SEIART R
AL T(HIE) | t=T7cm PK3 52.6 | 52.6 53
S418 |H PeokrEr 2=
8 T(#H) [t=10cm(2F5cm) 4.1 4.1 4




TR S B &

@ ® ©
BUKE | K ES
E FIEﬁ VP ¢ 75 VP ¢ 75 VP ¢ 75 /El\%l_ E&&b
DP=1.2m DP=1.2m DP=1.2m
BE 9% | HE 39 | HE 397
B b 0.20BH 2.1 2.1 7.7 11.9 12
HREL(HET) 0.20BH 1.5 1.5 5.4 8.4 8
HRET AL 0.20BH 5.4 5.4 5
______________________________________ 5.9+61.8
FE A4S T AT 2.1 2.1 1.7 5.9 68
mATAMEE
TR T t=19cm 1.5 1.5 6.0 9.0 9
RENACY a1 ST N I IR SR N B
AR T t=20cm 1.5 1.5 6.0 9.0 9




T TEHEE &H

HE 1108 (E5H)

B K &

DIP ¢ 150mm DP=1.3m

R R DIP ¢ 150 MRS 121 m
SR 0.26 m BeilsE 037 m B+
BIFO 0.150 m B 044 m FEBR®E
AR 0.169 m BAE 059 m  FEERE
FHE S RS 070 m AS 0.07 m
PRHI R 2.29 2.29
SRR T
t=29cm 2.29 1 + 0.70 X 2 = 3.7
EfiE R EUE T
As t=30cmLL T 2.29 0.70 = 1.6
FE AR T
2.29 0.70 X 1.21 = 1.9
HWERT (&EB1)
0.70 0.37 - 0.169 2
X
7 = 4 ) X 2.29 = 0.5
A TG4 1) Skt
1.9 - 0.9 = 1.9
¥ AL T.(AS)
1.6 0.26 = 0.4
T E A T
FAEYIAREA t=44cm 2.29 0.70 = 1.6
RC-40
LT
HARFERA t=59cm 2.29 0.70 = 1.6
RM-40
F=ET
HABREET 270 t=Tcm 2.29 0.70 = 1.6

PK—3




T TEHEE &H

HE 1108 (E5H)

i

DIP ¢ 150mm DP=2.00m

N AV A AT D)

R R DIP ¢ 150 MRS 191 m
SR 0.26 m BedE 107 m B+
BIFO 0.150 m B 044 m FEBR®E
AR 0.169 m BAE 059 m  FEERE
FHE S RS 1.20 m AS 0.07 m
PRHI R 4.00 4.00
SRR T
t=29cm 4.00 1 + .20 X 4 = 8.8
EfiE R EUE T
As t=30cmLL T 4.00 1.20 = 4.8
FE AR T
1.20 1.91 - 0.169 2
7 = 4 ) X 4.00 = 9.1
HWERT (&B1)
1.20 1.07 - 0.169 2
X
7 = 4 ) X 4.00 = 5.0
Ay T4 +) Skt
9.1 - 0.9 = 9.1
¥ AL T.(AS)
4.8 0.26 = 1.2
T E A T
FAEYIAREA t=44cm 4.00 1.20 = 4.8
RC-40
LT
HARFERA t=59cm 4.00 1.20 = 4.8
RM-40
F=ET
HABRET 270 t=Tcm 4.00 1.20 = 4.8

PK—3




T TEHEE &H

HE 1107 (FE5#E)
KWK V7 28 FT

DIP ¢ 150mm DP=2.00m

R R DIP ¢ 150 MR 2.30 m
SR 007 m Bl 127 m B+
BIFO 0.150 m B 044 m FEBR®E
AR 0.169 m BAE 059 m  FEERE
FHE S RS 1.20 m AS 0.07 m
PRHI R 4.00 4.00
SRR T
t=29cm =
EfiE R EUE T
As t=10cmPL 4.00 1.20 = 4.8
FE AR T
1.20 2.30 - 0.169 2
7 = 4 ) X 4.00 = 11.0
HWERT (&B1)
1.20 1.27 - 0.169 2
X
7 = 4 ) X 4.00 = 6.0
Ay T4 +) Skt
11.0 - 0.9 = 11.0
¥ AL T.(AS)
4.8 0.07 = 0.3
T E A T
FAEYIAREA t=44cm 4.00 1.20 = 4.8
RC-40
LT
HARFERA t=59cm 4.00 1.20 = 4.8
RM-40
F=ET
HABRET 270 t=Tcm 4.00 1.20 = 4.8

PK—3




+TEEE KH
HE 1108 (E5H)

VP ¢ 7omm DP=1.3m

R R VP ¢ 75 MRS 113 m
SR 0.26 m B ERE  0.29 m poRtE -
BIFO 0.075 m B 044 m FEBR®E
AR 0.089 m BAE 059 m  FEERE
FHE S RS 070 m AS 0.07 m
PRHI R 38.00 38.00
SRR T
t=29cm 38.00 1 + 0.7 X 2 = 39.4
EfiE R EUE T
As t=30cmLL T 38.00 0.70 = 26.6
FE AR T
0.70 1.13 - 0.089 2
7 = 4 ) X 38.00 = 29.8
HWERT (&B1)
0.70 0.29 - 0.000 2
X
7 = 4 ) X 38.00 = 7.7
Ay T4 +) Skt
29.8 0.0 - 0.9 = 29.8
¥ AL T.(AS)
26.6 0.26 = 6.9
T E A T
FAEYIAREA t=44cm 38.00 0.70 = 26.6
RC-40
LT
HARFERA t=59cm 38.00 0.70 = 26.6
RM-40
F=ET
HABRET 270 t=Tcm 38.00 0.70 = 26.6

PK—3




TTREE B
HE 398 (7173H)

Bl K
VP ¢ 7omm DP=1.20m
AWK LT
@
R R VP ¢ 75 MRS 143 2 m
SR 0.00 m BebieE 1.04 m kBt
BIFO 0.075 m B 019 m @B
AR 0.094 m BAE 020 m  FEEE
FHE S RHIE 1.00 m AS 0.00 m
PRHI R 1.50 1.50
SRR T
t=5cm =
EfiE R EUE T
As t=10cmPL T =
FE AR T
1.50 1.00 X 1.43 = 2.1
HWERT (&EB1)
1.00 1.04 - 0.094 2
7 - X 1.50 = 1.5
S TRAT) R+
2.1 0.0 - 0.9 = 2.1
55 T.(AS)
T E A T
FAYIARA t=19cm 1.50 1.00 = 1.5
RC-40
LT
HARFERG t=20cm 1.50 1.00 = 1.5

RM-40




TTREE B
HE 398 (7173H)

Bl K&

VP ¢ 7omm DP=1.2m

BARIE+4 K+SVHHE T &

®
R R VP ¢ 75 MRS 143 2 m
SR 0.00 m BedsE 104 m B+
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 020 m  FEEE
FHE S RHIE 060 m AS 0.00 m
PRHI R 2.50 2.50
(#18)1.00+(5y /K +SVHHE T #)1.50
SRR T
t=5cm =
EfiE R EUE T
As t=10cmPL T =
FE AR T
0.60 1.43 - 0.089 2
7 = 4 ) X 2.50 = 2.1
HWERT (&B1)
0.60 1.04 - 0.089 2
X
7 = 4 ) X 2.50 = 1.5
Ay T4 +) Skt
2.1 0.0 - 0.9 = 2.1
Ly T.(AS)
T E A T
FAYIARA t=19cm 2.50 0.60 = 1.5
RC-40
LT
HARFERA t=20cm 2.50 0.60 = 1.5

RM-40




TTEEE BRH
HE 39 (TiiE)
WER B iR

VP ¢ 7omm DP=1.2m

R R VP ¢ 75 MR 129 m
SR 0.00 m B E 090 m A+
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 020 m  FEEE
FHE S RHIE 060 m AS 0.00 m
PRHI R 10.00 10.00 m
SRR T
t=15cm _ m
EfiE R EUE T
As t=15cmPL T = m
FE AR T
0.60 1.29 - 0.089 2
n = 4 ) X 10.00 = 7.7 m
WERT (B4E+)
0.60 0.90 - 0.000 2
X
n = 4 ) X 10.00 = 5.4 m
S TRAT) R+ ‘
7.7 5.4 - 0.9 = 1.7 m
7 A5 T(AS) |
T E A T
FAYIARA t=19cm 10.00 0.60 = 6.0 m
RC-40
LT
HARFERA t=20cm 10.00 0.60 = 6.0 m

RM-40




+TEEE &M
HE 1107 (FE5#E)
AR

WE N7 22 26¢m
HeAAMET7T 2> 10em
@
TR B MRS 0.19 m
HEWE 007 m FE AR m
IOV m A m  FEEE
AR m s m ERER
FHE S RHIE 070 m AS 0.26 m
PRHIIE K
EEEIREIT T
SR T 2.29 X 0.70  (DIPAiz% +
As t=7cm 4.00 X 1.20  CREk-SVT)  + = 52.6
38.00 X 0.70 (VPR +
32.60 X 0.60 (FAKEUHL)
P Ak A T
52.60 X 0.19 = 10.0
HWRT (&E1)
A T4 +) A+
10.0 - 0.0 - 0.9 = 10.0
¥ Ly T.(AS)
52.6 X 0.07 = 3.7
F=ET
WE M7 23y t=5cm 52.60 - 4.10 = 48.5
PK—4
Hfg T
WE M7 23y t=Tcm 52.60 - 4.10 = 48.5
PK-4
Hfg T
WE M7 23y t=Tcm 52.60 = 52.6
PK—4
Hfg T
WE M7 23y t=Tcm 52.60 = 52.6
PK—3
#FET [2.29+4+38-8+4.8] &
BEAPET 22> t=10cm 41.09 X 0.10 = 4.1

(B EAERTERS. 0m & BRE  BUHL0.6 X8 e ANnb)







ALK EAMRE
GXJ ¢ 150mm*VP ¢ 75mm

woE L B 1% & | B 7
H A X T ¢ 150 2.1 m
BBk F W W T ¢ 150 2 i
% = €T RIZE ¢ 150 1 M
% = T GUv7 ¢ 150 3 M
it o » & B L P ¢ 150 1 55
AU R EFRE L | AR 150 BD 4 =
A= v fk F L FiEk ¢ 150 1 H
AT = B vk F LR 6 T5(K3, B 4 u
KWK NN LT HBET DIP ¢ 150 2 & T
KWKk N L7 EE L VP ¢ 75(&) 1 AT
w W or 7 — 7 L ¢ 150 8.0 m
w B or v — b L 2.1 m
%%&%7§VI~‘J%L*%EH&%L DIP ¢ 150 4 .
BE ok & Mk F 4t LT DIP ¢ 150 2 =
PEZ% 45 E L XL F 1 T VP ¢ 75 0.2 it




BoOoEE B 2 (BdKE)



B K & o B =X

— = = = =
A LA e I C SETE P T T | e | en i i Wit | wikke o m
¢ 75X ¢ 100X ¢ 75X ¢ 100X - 75200 e HHET A — Lo
Yooy y = o by 6o =o o by 60 < . B B b El b B E3 B H
(=229 N oy & 11/4° | 221/2 45 111/4 221/2 45 1300 450 g ot g ot 75%150 | 75%200 it 754200 | 75200 Bl it HO %P
DIP ¢ 150 DP=1.3m 1 1
VP ¢ 75 DP=1.2m
it 1 1
FER] WA | L, PERFEE | VTR — AL IS e | R (S g Tk LT o I A
g PARE | e | mzmw | ow | mEs ety | sar | s | anr | FCa e S it
=g s 500 % 690 : 500 % 690 : ZHFL i : s ABR7E pIPH VPA DIP$150 | VP75 i
DIP ¢ 150 DP=1.3m 1 1 3 1 3 1 2
VP75 DP=1.2m 1 4 4 1 JEES 2.1 140
it 1 1 4 1 3 1 4 2 1
A | ackeeE | HAR AR | o | oo AN=Tv | AA=Tv | Rk ENCIES WERSAE T T~ INK eSV
Pty phipA ey T 7500 | 7Y | " e R RN s ] — . : BER A BT 537K =SV
R 1% T o | wE | wew | ps | opy (BE L BR L B L OBRE ) TS | Cgo |peeonhl BT QBT ooe | o | B ) T RO W R
Het | AL 1R | HE stk 675 it i 773 DIP6150 | VP&75 i vP DIP &
DIP ¢ 150 DP=1.3m 2.070 2 1 3 1 1 6
8.0 )
VP $75 DP=1.2m 4 4 2 1 2.1 140
it 2.07 2 1 3 1 5 8.0 6




+THEFHEE (KBKE)



TR K R &

@
K -
& | G
¢ 50~ ¢ 20
HE 1107

SR t=29cm 72.0 72.0 72
sptEpE R | |

0.20BH t=30cmlL T 21.4 21.4 21

FERR I T 0.20BH 20.8 20.8 21

P T NI 2.6 2.6 3

HET (%R 0.20BH 3.4 3.4 3

MET (34 1) AN 2.6 2.6 3

sy T A+ 20.8 20.8 21

sy T AS 6.2 6.2 6
BaAEAE L L

INENS AN t=44cm 21.4 21.4 21
EIRESY Vi 7 SE I N R R R

s T t=>55cm 21.4 21.4 21
BAeESRET A2 | |

FE 1L (HH) t=7cm PK3 21.4 21.4 21




TR
=

faKE

A

N

BEES

HIVP ¢ 40~ ¢ 20

By

1.20

AIE

o

at

35.70




+TEEE
HE 1105([E8)
Bk

HIVP ¢ 40~ ¢ 20mm DP=1.20m

ASEH D RL (1EFTH720) 21k (0.5%1.0%0.9=0.45n7)

) B 1k (0.5%1.0%0.3=0.1513)
RERE R HIVP ¢ 50~ ¢ 20 KSR, 097 m
i 0.29 m e 016 2m pokek R4
BIEOME 0.040 m eidE 000 m AL
AR B 0.0560 m Bz 044 9 m F/ERE
IREIE 060 m W 059 m  FERm
AS 0.07 m
PEHIIE 35.70 35.7
EREERRYIM T
t=29cm 35.70 2 + 0.60 X 1 = 72.0
ESERREUE T
As t=30cmLL 35.70 0.60 = 21.4
AR T
35.70 0.60 X 0.97 = 20.8
NVALE < =T i) &P
0.45 5 + 0.15 X 2 = 2.6
HET (&E+)
0.60 0.16 - 0.050 2
7 = 4 ) X 35.70 = 3.4
HMET (41)
35.70 0.60 X 0.00 = 0.0
ANERT G&4+)
NAE = 2.6
Ay T R+
20.8 0.0 - 0.9 = 20.8
¥+ T(AS)
21.4 0.29 = 6.2
NEL R
HAYARG t=44cm 35.70 0.60 = 21.4
RC-40
b JE A T
F/ERIFATEA t=59cm 35.70 0.60 = 21.4
RM-40
=AM
F/EBRIET 232 t=Tem 35.70 0.60 = 21.4
PK—3







FRKEMERE (B

w®oOE L b} & ® = 7
g ALY = AR L ¢ 20 14.3 m
g ALY = AR L ® 25 10.8 m
g ALY = AR L ¢ 30 10.3 m
g ALY = AR L ¢ 40 10.3 m
ROV 4y oK B A T DIP ¢ 150 X ¢ 20 2 & AT
ROV 4y oK B A T DIP ¢ 150 X ¢ 25 1 & AT
ROV 4y K R A T DIP ¢ 150 X ¢ 30 1 & AT
ROV 4y oK B A T DIP ¢ 150 X ¢ 40 1 & AT
= 7 Jid f~f T ¢ 20~ ¢ 50 5 & pir
ko & W T ¢ 20 2 B0
ik ok & W T ¢ 25 1 B0
k& W T ¢ 30 1 B0
ko & W T ¢ 40 1 B0
7 K & B O T ¢ 25 1 50
' K & H O T ¢ 40 1 & AT
oK B Wk F L 613 3 & pir
¥ W R ¥y — b+ T 35.7 m




MR



PER T B—1bki2ET ZAEDET A—H—FT
SRGE |
3 2
¢ 13 ¢ 20 ¢ 25 ¢ 30
(Hl\ﬁ%;%iyf 000 T 1430 | 08 | 1030
NETHER) ¢ 40
"""" w3 |
TSRS E SIS
A4 Bk B B
H ! v S S B 4 4??3/.:?&
Y 3 10.3
T e 3 9.5
Y 3 9.5
I B B S S et B soeeeeees 7
R Y 7
Y 4
R 3
Y 3
H 1 = A & S AR N G 7
R Y g
R Y 6
R 4
Y 4
H I % ¥ v 7 T I G 7
R Y o T
Y 1
R 1
Y 1
H I ® & Y 7 v b o SN G T3 T T G 7




AP BHER AT

B HKS & E:Xiva
5 4 r 5 v v & a
A — K — = F v 613 0
T N o
T e T o T
1 R o
N R o T
7 1/ # ‘:/ j /l/ % """"""""'?6'2'0 """""""""""""" 2' """"" O5m/2'§
L T T
__________________________________________________________ 0.8m/A&
$ 30 1
T 0T T
Zl JJ: 7k *é\t‘ """"""""'?6'2'0 """""""""""""" 2' """"" b‘
L T T
4 1k 7K [ R S S C P LS LEEEEE CELEEEEEEICEEEEEEEE: 7
= PVCHL ¢ 100X H500~700mm 3
FHHEY 7y — g5 E o7, S R [ 7
T 0T T
e a
S Vv [ e R {A\;E)E-H """""""""""""" 6T
"""""""" L) N N
ﬁ JJ: 7k *é\t‘ """"""""'?6'173 """""""""""""" 6 """"" b‘
T N o
L T T
T 1 R o
T 0T T
bA
1% DA, = U PP
yoE oAvoag oKk R DIP ¢ 150 X 20 2
"""""" DIP ¢ 150x25 | 1 T
"""""" DIP¢150x30 | 1
"""""" DIP ¢ 150x40 | 1 T
1t — S I F m
o b i@ 5em 35.7




KRB

4k y Pk | (e | TIVRE | HIVP@E) | vrob mamer | v | meron | 2250 | T0RT  ankie | QS8 [T | mikke /irgifu Svi
0 SR
[ 146 7 = gk | s | om | omo o om | om | omo | o || o || o | me | g || o || o | e | ne | | oee | | o | s | o | | o | e | ne | s
@ 25 f=H—FT 150 X 25 1 25 8.3 25} 2.0 25 10.3 25 4 25 6 25 1 25 2 25 1 25 1 25 1 25 1
® 13 | #ikie | 150%20 1 | 20|83 | 20| 20 | 20| 103 |2 | 4|2/ a4]2]|: 20 | 1|20 1| 20]:1
® 13 | #iokie | 150X30 1 |3 |75 |30 | 20| 3 | 95 |30 | 3|3 |a]s]|1 30 | 1 30 | 1 |mow| 1
@ 0 | AT | 150x40 1 |20 | 75 |40 | 20 | a0 | 95 |40 | 3 | 40| a4 | a0 | 1 0] 2 | 10| 1 0 | 1 |10 | 1 |#0e] 1
@ 13 B IkkEe 150X 20 1 20 1.0 20 2.0 20 3.0 20 3 20 5] 20 1 20 1 20 1 20 1
HIVPAER (i) [ *20 [ 326
7“*1’&%}‘ ’L*E"’;SO“ 3.1 Bloo | Bloo | 3] 00 | 13lo | B|o]|B]o o | B lo |B]o|1B]o Blo | 13]o sl o
L TR it 35.7 150x20 | 2 | 20 | 93 | 20| a0 | 20| 133 |20 |7 |29 |20]:2 20 [ o | 20] 2 |20]2 [sooL| 3 [20]0 |2]0o s | 2
Ah—ETH A 2 150X 25 1 | 25|83 | 25| 20 | 25| 103 [ 25| 4 |25 |6 | 2|1 o5 | 2 |25 |1 |25 1 25 [ o | 25| 1
kAR TRE | 3 150X 30 1 |30 |75 [ 30| 20| 3 | 95 [3 |3 |[3/|4]s3]|1 30 [ o |30 |1 |3]o0 30 [ o |30 [ o | 3|1
150 %40 1 |20 | 75 |20 | 20 | 40| 95 |40 | 3 |40 | a | a0 |1 w02 20| 1 [10]o0 00 |10 ] 1 |0]:1
13 3T
FEKEBEE T 20 (e
FEKEBEE T 25 OfE T
AR PEE T 30 Of&iFir
FEKEBEE T 40 (e
3 50| #k | 326 | &k | 100 | @ | aze | & |7 | & |23 | & | s 3 o || a | a5 e s | a | s |a o | a2 [ s ]2 | ]2




it = &



WMEEE

VP ¢ 75mm*DIP GXJ ¢ 150mm

woE L B 1% B | H 7
WEE B B HEA T(R) VP ¢ 75 38.0 m
WMEE R BT REA TR VP ¢ 75 10.0 m
WMEE B PR T(H) DIP ¢ 150 2.1 m
1/ QS 1 T D O 3 VP ¢ 75 11 u
[/ QS G 1 T D = VP ¢ 75 3 u
U E AR 2 (HIVP - VP) 4t L=25kmPL T ]
/G == S RS N ¢ 0.4 i




TBEE

No. TEM g |EIEFK| BTERM) | ARERE) |XEMERF)| BREEHE) | FEE®0) #E
1 TV I RIRER H=2.50 1 2.0 0.289
B 0.289
S : 2877/H

ERRERMIR | RIRM W=0.333m H=2.00m t=0.04m
e L#  |W=0.115m H=2.00m t=0.08m
IE ) L= 0960 m

XK RRIIIME Y IMERE L T 5,




